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MAT 1313 Unit 3 Review
Answer each of the following:
1. Identify Transformations
a. flx+3) c. fix)+3 e. y=|x+1|-3
b. fx)-3 d flx-3) f. y=alx-24+3
2+1 if x23
2. Given flx) =
X if x<3
a. fl-5) b. A8) c. f3)
3. Given the graph below, answer the following questions
a. interval of increasing ¢. domain/ range
b. interval of decreasing d. f(-3)
4. Given center [1, —3) and r = 5, answer each of the following about the equation of a circle
a. Write in standard form c. Graph
b. Write in general form d. Isita function?
5. Given flx)=2x+1
a. Find inverse b. Graph f(x) & ' (%)
6. Given f(x) = x> +3x—1 and g(x) = 2x + 5, answer each of the following: 4
I/ '
a. fr)+g) d. (—g- )
b. (f-2)®) e. (fog)®
. (f+2)@ £ (gof )
7. Graph each of the following:
a y=3x-1 b. fixy=~x+1-3 c. y=px-3+2
8. Given x’ +y2 +4x — 6y — 12 = 0, answer each of the following:
a. Write in Standard Form ¢. Radius?
b. Center? d. Graph



R

\eLy

Name: Class:

Date:

MAT 1313 Unit 3 Review
Answer each of the following:

1. IdentinyTransformations
a. flx+3) €3 C.

b. AN-3 LUd

2. ‘Givenf(x)={ A
¥t if x<3
a. f(*-':S)

b. A8

A
o R e Y

H

i

a. interval of increasing X>~3
b. interval of decreasing x &-3

a. Write in standard form
b. Write in general form

5. Given f{x) =2x+1
a. Find inverse
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d: Is it a function?
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4, Given center (I,—3) and r = 5, answer each of thé following about the equation of a circle
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b.. Graph fix) & £ (x)

6. Given f{x)=x"+3x—1and g(x) =2x+5, answer each of the following:

a. flx)+gx)
b (f-g)®
c. (f+2)®
7. Graph each of the following:
a p=3-1 b. fx)=

8. Givenx’ +y’ +4x—06y
a. Write in Standard Form
b. Center?

< [t)o
e. (fog)®
£ (gof)D
x+1-3 c.

—12 =0, answer each of the following:

¢. Radius?
d. Graph

y= |).‘—-3| +2
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